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QUESTION 1

At which Layer would you use trace route to validate the path? 

A. Layer 1 

B. Layer 2 

C. Layer 3 

D. Layer 4 

Correct Answer: C 

 

QUESTION 2

Which three of the following components must be elected before the Spanning Tree Protocol can converge in a
switched LAN? (Choose three.) 

A. designated ports 

B. duplex operating mode 

C. fast mode ports 

D. root bridge 

E. root ports 

F. BDPU priority 

Correct Answer: ADE 

 

QUESTION 3

Which two ports does EtherNet/IP use to communicate? (Choose two.) 

A. TCP 44818 

B. UDP 44818 

C. TCP 502 

D. UDP 502 

E. TCP 2222 

F. UDP 2222 

Correct Answer: AF 
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QUESTION 4

With what are APC connectors used? 

A. Category 6a cables that need tight radius bends 

B. copper network cables in corrosive environments 

C. single-mode fiber-optic cables to reduce return loss 

D. high-density copper patch panels 

Correct Answer: C 

 

QUESTION 5

For which three issues should fiber-optic network segments be tested? (Choose three.) 

A. attenuation 

B. near-end crosstalk 

C. length 

D. polarity 

E. jitter 

F. tensile stress 

Correct Answer: ACD 
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